Az J|
X ZH - Dd

B SN oA
HIHE S

= 288 HE=2d

U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
Ofl &4t 483,267,971 417,146,152 66,121,819
AHHE 2 429,612,951 348,460, 101 81,152,850
=25 NEg=2dY 429,612,951 348,460,101 81,152,850
ABS ME=2E 4,698,000 4,445,000 253,000
101 el2H] 20,000 20,000 0
U IIHZZ2NSES 20,000 20,000 0
(OPJIC e f==tenges 20,000
201 er=3y| 2,120,000 2,100,000 20,000
01 AF22t2H] 1,000,000 1,000,000 0
oJzss=2g 1,000,000
02 S&5=4tl 250,000 100,000 150,000
oIass=Y 250,000
03 A= S| 870,000 1,000,000 130,000
(OPJIC e=1==tenges 870,000
202 04| 1,500,000 1,247,000 253,000
01 =LHObI 300,000 300,000 0
oJ|xEs=d 300,000
03 =204l 600,000 572,000 28,000
oJzss=2d 600,000
04 =NIZt01H] 600,000 375,000 225,000
oJass=d 600,000
203 PR =] 78,000 78,000
03 A=A PR 2| 78,000 78,000
oJ|xEs=d 78,000
301 L2 S 550,000 600,000 /50,000
08 212te1=2| OfH| 350,000 400,000 A50,000
oJzss=2d 350,000
09 2Iel=E 0 50,000 50,000 0
(OPJIC e=i==tenges 50,000
11 #AIMHIXIZ =S 150,000 150,000 0
(OPJIC e=f==tenges 150,000
405 AbatE =H 400,000 400,000
01 IR =S FSHI 400,000 400,000
(OPJIS g i==foges 400,000
406 JIEFA=01A 30,000 0 30,000
01 JIEFRH=01 S 30,000 0 30,000
(OPJIS e=i==teges 30,000
Olatd s HE 24 20,000 15,000 5,000
301 LetEd = 5,000 0 5,000
14 IIE2d = 5,000 0 5,000
Oulatd ut= 5,000
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D ME2ARS &
=
T

CI9l: oRRE ()

5 2
x

U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
01 2LHOIHI 3,000 3,000 0
OBRIZIEX E2AHY =& 3,000
308 NXIEMSO0IH 399,000 399,000
01 AXHHBELS 399,000 399,000
ODIAE 28t SHE SUHAY 399,000
402 BIZHA=01A 1,830,000 15,303,000 213,473,000
03 2I2+2AEFAIHBI 1,830,000 15,303,000 13,473,000
O0INEHYE ZMAIZ £X K& 300,000
ODIAERE =0 S 2H =424 1,530,000
403 AXIEHMSA=01A 100,000 100,000
01 AXISHHA=EXE 100,000 100,000
ODIAE 28I SHE SUHAY 100,000
Glla1a] 46,939,422 48,601,010 A 1,661,588
(Gl]]}a] 46,939,422 48,601,010 1,661,588
oligigl 46,939,422 48,601,010 1,661,588
801 GdidIbl 46,939,422 48,601,010 1,661,588
01 etolblbl 40,939,422 42,601,010 A1,661,588
ogetoligibl 40,939,422
02 Mo - =X 0idl8] 6,000,000 6,000,000 0
OMalf - HeH=H0HI8] 6,000,000
A A G (04D 52,598 59,410 N6,812
Jl=238Hl 52,598 59,410 26,812
FANE2E JI=3HI 52,598 59,410 26,812
201 &gr=2E| 35,564 41,692 N\6,128
01 At2tcIH] 33,564 30,692 N6,128
ORKA2E AR2tclH 33,564
2 &=l 2,000 2,000 0
FAEE SS2SH| 2,000
202 04| 12,234 12,918 N684
01 ZLHA I 12,234 12,918 A684
OFA=2g =L 12,234
203 =8| 4,800 4,800
4 EASHLI=AH 4,800 4,800
©30¢e! olat 400,000~ 123 4,800
WS (0 at) 4,131,000 4,258,631 A127,631
LFSPNES 1,931,000 1,931,000 0
202149 SKRWAFS L WEETH(SIIS) 1,931,000 1,931,000 0
311 XS0l Aretet 1,931,000 1,931,000 0
05 JIEtXHS SOl ktatt 1,931,000 1,931,000 0
©'219 EXJIZ3 OlX+ && 1,931,000
WEHehXI= 2,200,000 2,327,631 127,631
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NEHIPIEE=-3Y FA Gle
A YRES(04)
S VeI

AR 2H - FB.G9(3) - NIRAY - BES ol ket i
NEoeg & =o1=2 S& MY 2,200,000 2,327,631
705 O~ RS 4AE 2,200,000 2,327,631
04 Al - EXIGOHED IS 0=~ 0 Ahat &t 2,200,000 2,327,631
O'20d X<Hg & =01=e| S8 1,595,000
O'21" XNgig & =e=e| 58 605,000
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